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SHEN/P #1 950MW 1,014MW
SH2N/P #2 950MW 1,011TMW
SH2N/P #3 1,000MW 1,05TMW
SH2N/P #4 1,000MW 1,052MW
— 8,700 MW 9,136 MW
SHZN/P #5 1,000MW 1,049MW
52 N/P #6 1,000MW 1,049MW
MSEZN/P #1 1,400MW 1,455MW
AMSHEN/P #2 1,400MW 1,455MW
AMEGIP #1,2 1,022MW x 2 1022MW x 2
EH™HT/IP#1,2 595MW x 2 595MW x 2
AMEL 7,414 MW 7414 MW
ZEOCIT/IP#1,2 | 1,040MW x 2 1040MW x 2
AXB/P #1,2 1,050MW x 2 1050MW x 2
16,114 MW 16,550 MW
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He T2 765kV 345kV 154kV HVDC A
211 A e 3/13 11/ 295 51/ 2126 3/5 68 / 2439
nbSel 0.2308 0.0373 0.0240 0.6000 0.0279
2oL S A e 5/13 28 / 309 56 / 2153 5/5 94 / 2480
nkSeli 0.3846 0.0906 0.0260 1.0000 0.0379
9314 AT/ 2l 3/13 22 /310 39 /2190 12/5 76 / 2518
Sy 0.2308 0.0710 0.0178 2.4000 0.0302
A HF AW M | 0.2821 | | 0.0667 0.0226 1.3333 0.0320
ME I HIE _ojzn%
He T= 765kV 345kV 154kV HVDC A
211 NE= /2 0/13 1/ 295 2/2126 1/5 4 /2439
AP 0.0000 0.0034 0.0009 0.2000 0.0016
221 A e 1/13 9 /309 10 / 2153 0/5 20 / 2480
nkSyy 0.0769 0.0291 0.0046 0.0000 0.0081
9314 AT/ 2l 0/13 1/310 3/2190 0/5 472518
nkSeli 0.0000 0.0032 0.0014 0.0000 0.0016
Ol Wg nE T | 0.0256 | 0.0120 0.0023 0.0667 0.0038
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6,580 MW 834 mw) 765.1 341.2 765.9 336.1
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